Slab on Grade Design West View Residence

Span=11"

Try 6" slab w/#4t&b @ 12"
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Slab on Grade Design West View Residence

Grade Beam

Try 18"dx18"w w/3-#41&2 -#5b

As:=.62 Asp=.6 d:=15 b:= 18 dp:=2

D
fc := 2500 D:=18 Ig:= b.E Ig = 8748 Spac := 10

D
= + wl = 40
12-150
D-b Spac-12 — D Spac-12 — D
wd = 22450, (SpaC ) 150 4 (SpAC ) 10 wl = Spac-40
144 12 12
Span := 8 R := (wd + wl)-Span R = 16780 Use: 1-4"dia pipe pile
wd = 1697.5 wl =400
5
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E
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Slab on Grade Design
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lam = —— acpsh = lam-ai

1+ 50-rp

Span2

Mu = (wd-1.4 + wl-1.6)

PhiMc := .9-60000-As:| d — —~
2) 12

As-6000
Mu = 24132 q = 2560000

PhiMc = 40493.29

West View Residence

Asp

D-b

acpsh = 0.0011 OK

a=0097
.85-b-fc

OK

Use: 2-#5b
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